

$(1-x^2) \frac{dy}{dx} - 2xy = 0$   
 $(1-x^2) \frac{dy}{dx} - 2xy = 0$   
 For  $(1-x^2) \frac{dy}{dx} - 2xy = 0$   
 $(1-x^2) \frac{dy}{dx} = 2xy$  let  $v = 1-x^2$  if  $v = y^2$   
 $v' = -2x$   $v'' = 2y$   
 $v''' = -2$   $v^{(n)} = y^{(n+1)}$   
 $v^{(n+1)} = y^n$

$y^n = y^{(n+2)}(1-x^2) + n y^{(n+1)}(-2x) + n(n-1) y^n (-2x)$

$-2xy(v)$   
 $v = y^2$   
 $v' = -2x$   $v'' = 2y$   
 $v''' = -2$   $v^{(n)} = y^{(n+1)}$   
 $v^{(n+1)} = y^n$

$y^{(n+1)}(-2x) + n y^{(n)}(-2x)$

$v = y$   
 $v' = 0$   $v^{(n)} = y^{(n)}$

$= y^{(n)}(2x)$

$y^{(n)} = y^{(n+2)}(1-x^2) + n y^{(n+1)}(-2x) + n(n-1) y^n (-2x) + y^{(n+2)}(2x) + n y^{(n)}(-2x) + y^{(n)}(2x)$

$y^{(n)} = y^{(n+2)}(1) + n y^{(n+1)}(0) + n(n-1) y^n (-2x) + y^{(n+2)}(0) + n y^{(n)}(-2x) + y^{(n)}(2x)$

$y^{(n)} = y^{(n+2)} - 2n(n-1) y^n + n y^{(n)}(-2x) + 2y^{(n)}$

$y^{(n)} = y^{(n+2)} - n(n-1) y^n + n y^{(n)}(-2x) + 2y^{(n)}$

$\int \frac{1}{x^2} dx = -\frac{1}{x} + C$

$\int \frac{2x^4 - 5x^3}{8x^4 - 5x^3} dx$   
 $= \frac{2}{8} \int \frac{x^4}{x^4} dx - \frac{5}{5} \int \frac{x^3}{x^3} dx$

$\int \frac{2x^4 + 5x^3}{8x^4 + 5x^3} dx$   
 $= \frac{2}{8} \int \frac{x^4}{x^4} dx + \frac{5}{5} \int \frac{x^3}{x^3} dx$

$\int \frac{4}{8x^2 + 5} dx$   
 $= \frac{4}{8} \int \frac{1}{x^2 + \frac{5}{8}} dx$

$\int \frac{2x^2 + 4}{5x^2 + 4} dx$   
 $= \frac{2}{5} \int \frac{x^2 + 2}{x^2 + \frac{4}{5}} dx$

$\int \frac{2x^2 - 2x + 5}{5x^2 - 2x + 5} dx$   
 $= \frac{2}{5} \int \frac{x^2 - x + \frac{5}{2}}{x^2 - \frac{2}{5}x + \frac{5}{5}} dx$

$\int \frac{2x^2 - 2x + 5}{5x^2 - 2x + 5} dx$   
 $= \frac{2}{5} \int \frac{x^2 - x + \frac{5}{2}}{x^2 - \frac{2}{5}x + \frac{5}{5}} dx$

$\int \frac{2x^2 - 2x + 5}{5x^2 - 2x + 5} dx$   
 $= \frac{2}{5} \int \frac{x^2 - x + \frac{5}{2}}{x^2 - \frac{2}{5}x + \frac{5}{5}} dx$

$\int \frac{2x^2 - 2x + 5}{5x^2 - 2x + 5} dx$   
 $= \frac{2}{5} \int \frac{x^2 - x + \frac{5}{2}}{x^2 - \frac{2}{5}x + \frac{5}{5}} dx$

$y^{(n)} = y^{(n+1)} + y^{(n)}(-n^2 - 2n + 2)$

$y^{(n)} = y^{(n+2)} + y^{(n)}(n^2 - 2n + 3) = 0$

$y^{(n+2)} + y^{(n)}(n^2 - 2n + 3) = 0$

$y^{(n+2)} = -y^{(n)}(n^2 - 2n + 3)$

when  $n=0$   
 $y^{(0)} = y^{(0)}(-3) = -3y^0$

when  $n=1$   
 $y^{(1)} = y^{(1)}(1^2 - 2 + 3) = 2y^1$

$y^{(2)} = y^{(2)}(1^2 - 2 + 3) = 2y^2$

when  $n=2$   
 $y^{(2)} = y^{(2)}(4 - 4 + 3) = 3y^2$

$y^{(3)} = y^{(3)}(5^2 - 10 + 3) = 2y^3$

when  $n=3$   
 $y^{(3)} = y^{(3)}(9 - 6 + 3) = 6y^3$

$y^{(4)} = y^{(4)}(16 - 8 + 3) = 11y^4$

$y^{(4)} = y^{(4)}(21 - 12 + 3) = 12y^4$

when  $n=4$   
 $y^{(4)} = y^{(4)}(25 - 20 + 3) = 8y^4$

$y^{(5)} = y^{(5)}(32 - 24 + 3) = 11y^5$

$y^{(5)} = y^{(5)}(40 - 30 + 3) = 13y^5$

$y^{(6)} = y^{(6)}(49 - 38 + 3) = 14y^6$

when  $n=5$   
 $y^{(5)} = y^{(5)}(56 - 40 + 3) = 19y^5$

$y^{(6)} = y^{(6)}(63 - 48 + 3) = 18y^6$

$y^{(7)} = y^{(7)}(72 - 56 + 3) = 19y^7$

$\int \frac{1}{x^2} dx = -\frac{1}{x} + C$

$\int \frac{2x^4 - 5x^3}{8x^4 - 5x^3} dx$   
 $= \frac{2}{8} \int \frac{x^4}{x^4} dx - \frac{5}{5} \int \frac{x^3}{x^3} dx$

$\int \frac{2x^4 + 5x^3}{8x^4 + 5x^3} dx$   
 $= \frac{2}{8} \int \frac{x^4}{x^4} dx + \frac{5}{5} \int \frac{x^3}{x^3} dx$

$\int \frac{4}{8x^2 + 5} dx$   
 $= \frac{4}{8} \int \frac{1}{x^2 + \frac{5}{8}} dx$

$\int \frac{2x^2 + 4}{5x^2 + 4} dx$   
 $= \frac{2}{5} \int \frac{x^2 + 2}{x^2 + \frac{4}{5}} dx$

$\int \frac{2x^2 - 2x + 5}{5x^2 - 2x + 5} dx$   
 $= \frac{2}{5} \int \frac{x^2 - x + \frac{5}{2}}{x^2 - \frac{2}{5}x + \frac{5}{5}} dx$

$\int \frac{2x^2 - 2x + 5}{5x^2 - 2x + 5} dx$   
 $= \frac{2}{5} \int \frac{x^2 - x + \frac{5}{2}}{x^2 - \frac{2}{5}x + \frac{5}{5}} dx$

$\int \frac{2x^2 - 2x + 5}{5x^2 - 2x + 5} dx$   
 $= \frac{2}{5} \int \frac{x^2 - x + \frac{5}{2}}{x^2 - \frac{2}{5}x + \frac{5}{5}} dx$

$\int \frac{2x^2 - 2x + 5}{5x^2 - 2x + 5} dx$   
 $= \frac{2}{5} \int \frac{x^2 - x + \frac{5}{2}}{x^2 - \frac{2}{5}x + \frac{5}{5}} dx$

$\int \frac{2x^2 - 2x + 5}{5x^2 - 2x + 5} dx$   
 $= \frac{2}{5} \int \frac{x^2 - x + \frac{5}{2}}{x^2 - \frac{2}{5}x + \frac{5}{5}} dx$

$\int \frac{2x^2 - 2x + 5}{5x^2 - 2x + 5} dx$   
 $= \frac{2}{5} \int \frac{x^2 - x + \frac{5}{2}}{x^2 - \frac{2}{5}x + \frac{5}{5}} dx$

$\int \frac{1}{x^2} dx = -\frac{1}{x} + C$

$\int \frac{2x^4 - 5x^3}{8x^4 - 5x^3} dx$   
 $= \frac{2}{8} \int \frac{x^4}{x^4} dx - \frac{5}{5} \int \frac{x^3}{x^3} dx$

$\int \frac{2x^4 + 5x^3}{8x^4 + 5x^3} dx$   
 $= \frac{2}{8} \int \frac{x^4}{x^4} dx + \frac{5}{5} \int \frac{x^3}{x^3} dx$

$\int \frac{4}{8x^2 + 5} dx$   
 $= \frac{4}{8} \int \frac{1}{x^2 + \frac{5}{8}} dx$

$\int \frac{2x^2 + 4}{5x^2 + 4} dx$   
 $= \frac{2}{5} \int \frac{x^2 + 2}{x^2 + \frac{4}{5}} dx$

$\int \frac{2x^2 - 2x + 5}{5x^2 - 2x + 5} dx$   
 $= \frac{2}{5} \int \frac{x^2 - x + \frac{5}{2}}{x^2 - \frac{2}{5}x + \frac{5}{5}} dx$

$\int \frac{2x^2 - 2x + 5}{5x^2 - 2x + 5} dx$   
 $= \frac{2}{5} \int \frac{x^2 - x + \frac{5}{2}}{x^2 - \frac{2}{5}x + \frac{5}{5}} dx$

$\int \frac{2x^2 - 2x + 5}{5x^2 - 2x + 5} dx$   
 $= \frac{2}{5} \int \frac{x^2 - x + \frac{5}{2}}{x^2 - \frac{2}{5}x + \frac{5}{5}} dx$

$\int \frac{2x^2 - 2x + 5}{5x^2 - 2x + 5} dx$   
 $= \frac{2}{5} \int \frac{x^2 - x + \frac{5}{2}}{x^2 - \frac{2}{5}x + \frac{5}{5}} dx$

$\int \frac{2x^2 - 2x + 5}{5x^2 - 2x + 5} dx$   
 $= \frac{2}{5} \int \frac{x^2 - x + \frac{5}{2}}{x^2 - \frac{2}{5}x + \frac{5}{5}} dx$

$\int \frac{2x^2 - 2x + 5}{5x^2 - 2x + 5} dx$   
 $= \frac{2}{5} \int \frac{x^2 - x + \frac{5}{2}}{x^2 - \frac{2}{5}x + \frac{5}{5}} dx$



$$y'' + y' + x^2 (-2x)^0 + \frac{x^1 (-5)^1}{8} + \frac{x^6}{16} + \frac{2x^7}{128} + \dots$$

2.  $3e^{-4t} - 5e^{4t}$   
 $= \frac{3}{s+4} - \frac{5}{s-4}$

ii  $\sin 4t + \cos 4t$   
 $= \frac{4}{s^2+16} + \frac{s}{s^2+16}$

iii  $t^2 + 2t^2 - t + 4$   
 $= \frac{2}{s^3} + \frac{4}{s^3} - \frac{1}{s^2} + \frac{4}{s}$

iv  $e^{-2t} \cos 5t$   
 $= \frac{(s+2)}{(s+2)^2 + 5^2}$   
 $= \frac{(s+2)}{(s+2)^2 + 25}$   
 $= \frac{(s+2)}{(s+2)^2 + 25}$

v  $t \sin 3t$   
 $L(t \sin 3t) = \frac{3}{s^2+3^2}$   
 $L(t \sin 3t) = -\frac{d}{ds} (F(s))$

$$= -\frac{d}{ds} \left( \frac{3}{s^2+3^2} \right)$$

$$= \frac{-(-6s)}{(s^2+9)^2} = \frac{6s}{(s^2+9)^2}$$

$$= \frac{6s}{(s^2+9)^2}$$

$$= -\left[ \frac{-6s}{(s^2+9)^2} \right]$$

vi  $\frac{e^{-t} - e^{-2t}}{t}$

$$L[e^{-t} - e^{-2t}]$$

$$= \frac{1}{s+1} - \frac{1}{s+2}$$

$$L\left[ \frac{e^{-t} - e^{-2t}}{t} \right] = \int_{s=0}^{\infty} \left( \frac{1}{s+1} - \frac{1}{s+2} \right) ds$$

$$= \int_{s=0}^{\infty} [\ln(s+1) - \ln(s+2)] ds$$

$$= \ln(s+1) - \ln(s+2)$$

$$= \ln(1) - \ln\left(\frac{s+1}{s+2}\right)$$

$$= -\ln\left(\frac{s+1}{s+2}\right)$$

$$= \ln\left(\frac{s+2}{s+1}\right)$$

$$= \ln\left(\frac{s+2}{s+1}\right)$$

vii  $\frac{e^{4t} \cos 2t}{t}$   
 $L(\cos 2t) = \frac{s}{s^2+4}$

$$L[e^{at} \cos bt] = \frac{s-a}{(s-a)^2 + b^2}$$

x  $\frac{1}{s^2+4} = \frac{1}{(s+2)^2 + 2^2}$

x  $e^{at} (t^2+4)$   
 $L[e^{at} (t^2+4)] = \frac{2}{(s-a)^3} + \frac{4}{(s-a)^2}$

$$L[e^{2t} (t^2+4)] = \frac{2}{(s-2)^3} + \frac{4}{(s-2)^2}$$

x  $t^2 \cos t$   
 $L(t^2 \cos t) = \frac{2s}{(s^2+1)^3}$

$$L[t^2 \cos t] = \frac{2s}{(s^2+1)^3}$$

$$L[t \cos t] = \frac{1}{(s^2+1)^2}$$

$$\frac{d}{ds}$$

$$L[e^{4t} \cos 4t] = f(s) = \frac{s+4}{(s-4)^2 + 4}$$

$$1. \quad \frac{t^2 + 4t^2 + 5}{s^2 + 6s^2 + 6} = \frac{t^2 + 4}{s^2 + 6s^2 + 6}$$

$$2. \quad L[e^{4t}(t^2 + 4)] = \frac{2s + 4}{s^2 + 6s^2 + 6}$$

$$L[e^{4t}(t^2 + 4)] = \frac{2s + 4}{(s^2 + 6s^2 + 6)}$$

$$3. \quad t^2 \cos t$$

$$L(\cos t) = \frac{s}{s^2 + 1}$$

$$L(t^2 \cos t) = \frac{d}{ds} \left( -\frac{1}{ds} \left( \frac{s}{s^2 + 1} \right) \right)$$

$$L(t^2 \cos t) = \frac{2s(s^2 + 1)(s) - s(2s)}{(s^2 + 1)^2}$$

$$= \frac{(s^2 + 1) - 2s^2}{(s^2 + 1)^2}$$

$$= \frac{(s^2 + 1) - 2s^2}{(s^2 + 1)(s^2 + 1)}$$

$$= \frac{-2s^2}{(s^2 + 1)}$$

$$\frac{d}{ds} \left( \frac{-2s^2}{(s^2 + 1)} \right)$$

$$= \frac{(s^2 + 1)(-4s) - (-2s^2)(2s)}{(s^2 + 1)^2}$$

$$= \frac{-4s^3 + 4s + 4s^3}{(s^2 + 1)^2}$$

Use partial fractions  
 $\frac{1}{s^2 + 1} = \frac{A}{s+i} + \frac{B}{s-i}$

$$\frac{A+B}{s^2 + 1} = \frac{A}{s+i} + \frac{B}{s-i}$$

$$= \frac{-5s-1}{(s+i)(s+i)} + \frac{-2s^2}{(s+i)(s+i)}$$

$$\frac{-5s-1}{(s+i)^2}$$

$$3i) \frac{s-5}{(s-3)(s-4)} = \frac{A}{s-3} + \frac{B}{s-4}$$

$$\text{at } A, s=3, \text{ at } B, s=4$$

$$\text{For A} \quad \frac{(s-5) \times s-5}{(s-3)(s-4)}$$

$$\text{at } s=3 \quad \frac{8-5}{4-3}$$

$$= \frac{+2}{+1}$$

$$A=2//$$

$$F(s) = \frac{2}{s-3} + \frac{1}{s-4}$$

$$F(t) = 2e^{3t} + e^{4t}$$

$$3ii) \frac{2s-6}{(s-2)(s-4)} = \frac{A}{s-2} + \frac{B}{s-4}$$

$$\text{at } A, s=2, \text{ at } B, s=4$$

$$\text{For A} \quad \frac{(s-2) \times 2s-6}{(s-2)(s-4)}$$

$$\text{at } s=2 \quad \frac{2(4)-6}{4-2}$$

$$= \frac{2-6}{2}$$

$$= \frac{-4}{2}$$

$$= -2$$

$$= -2$$

$$= 1$$

$$= \frac{-4s}{(s^2+1)^2}$$

$$L\{e^t \cos t\} = \frac{-4s}{(s^2+1)^2}$$

xii) Schritt

$$L\{\sinh t\} = \frac{2}{s^2-4}$$

$$= \int_{-\infty}^{\infty} \frac{2}{s^2-4} ds$$

$$2 \int_{-\infty}^{\infty} \frac{1}{s^2-4} ds$$

$$2 \times \frac{1}{2} \left( \frac{1}{s-2} - \frac{1}{s+2} \right) ds$$

$$= -2 \int_{-\infty}^{\infty} \frac{1}{s^2-4} ds$$

$$= -2 \left( \frac{1}{2} \tan^{-1} \frac{s}{2} \right) ds$$



$$F(s) = \frac{1}{s-4} + \frac{2}{s-4}$$

$$F(s) = e^{4t} + e^{4t}$$

$$F(s) = \frac{1}{s-4} + \frac{2}{s-4}$$

$$5s - 8 = A(s-4) + B(s)$$

$$5s - 8 = As - 4A + Bs$$

$$A + B = 5$$

$$-4A = -8$$

$$A = 2$$

$$2 + B = 5$$

$$B = 3$$

$$\frac{2}{s-4} + \frac{3}{s-4}$$

$$F(t) = 2e^{4t} + 3e^{4t}$$

$$\frac{s^2 - 3s - 4}{(s-3)(s-1)^2}$$

$$\frac{A}{s-3} + \frac{B}{s-1} + \frac{C}{(s-1)^2}$$

$$\frac{(s-4)(s+1)}{(s-3)(s-1)^2} = \frac{A}{s-3} + \frac{B}{s-1} + \frac{C}{(s-1)^2}$$

$$(s-4)(s+1) = A(s-1)^2 + B(s-1)(s-3) + C(s-1)^2$$

$$(s-4)(s+1) = A(s^2 - 2s + 1) + B(s^2 - 4s + 3) + C(s^2 - 2s + 1)$$

$$(s^2 - 3s - 4) = A s^2 - 2As + A + B s^2 - 4Bs + 3B + C s^2 - 2Cs + C$$

$$A + B + C = 1$$

$$-2A - 4B - 2C = -3$$

$$A + 3B - 3C = 1$$

$$A = 1 - B$$

$$-2(1-B) - 4B - 3C = 1$$

$$-2 + 2B - 4B - 3C = 1$$

$$-2B - 3C = 3$$

$$2B + 3C = -3$$

$$0 - 2C = 1$$

$$C = -1/2$$

$$A + B = 1$$

$$-2A - 4B - 1/2 = -3$$

$$-2A - 4B = -3 + 1/2$$

$$-2A - 4B = -5/2$$

$$2A + 4B = 5/2$$

$$A = 1 - B$$

$$2(1-B) + 4B = 5/2$$

$$2A - 2B + 4B = 5/2$$

$$2B = 5/2 - 2$$

$$2B = 1/2$$

$$B = 1/4$$

$$A = 3/4$$

$$\frac{3/4}{s-3} + \frac{1/4}{s-1} - \frac{1/2}{(s-1)^2}$$

$$f(t) = \frac{3}{4}e^{3t} + \frac{1}{4}e^t - \frac{1}{2}te^t$$

$$\frac{s-5}{s^2+4s+20}$$

$$\frac{s-5}{(s+2)^2 + 16}$$

$$= \frac{s-5}{(s+2)^2 + 4^2}$$

$$A = 1 - B$$

$$-2(1-B) - 4B - 3C = 1$$

$$-2 + 2B - 4B - 3C = 1$$

$$-2B - 3C = 3$$

$$2B + 3C = -3$$

$$0 - 2C = 1$$

$$C = -1/2$$

$$A + B = 1$$

$$-2A - 4B - 1/2 = -3$$

$$-2A - 4B = -3 + 1/2$$

$$-2A - 4B = -5/2$$

$$2A + 4B = 5/2$$

$$A = 1 - B$$

$$2(1-B) + 4B = 5/2$$

$$2A - 2B + 4B = 5/2$$

$$2B = 5/2 - 2$$

$$2B = 1/2$$

$$B = 1/4$$

$$A = 3/4$$

$$\frac{3/4}{s-3} + \frac{1/4}{s-1} - \frac{1/2}{(s-1)^2}$$

$$f(t) = \frac{3}{4}e^{3t} + \frac{1}{4}e^t - \frac{1}{2}te^t$$

$$\frac{s-5}{s^2+4s+20}$$

$$= \frac{s-5}{(s+2)^2 + 16}$$

$$\frac{s}{(st+2)^2 + 16} - \frac{s}{(st+2)^2 + 16}$$

$$= \frac{s}{(st+2)^2 + 4^2} - \frac{s}{(st+2)^2 + 4^2}$$

$$\frac{st+2}{(st+2)^2 + 4^2} - \frac{s}{(st+2)^2 + 4^2}$$

$$\frac{st+2}{(st+2)^2 + 4^2} - \frac{2}{(st+2)^2 + 4^2} - \frac{s}{(st+2)^2 + 4^2}$$

$$\frac{st+2}{(st+2)^2 + 4^2} - \frac{2}{(st+2)^2 + 4^2} - \frac{s}{(st+2)^2 + 4^2}$$

$$\frac{st+2}{(st+2)^2 + 4^2} - \frac{2}{(st+2)^2 + 4^2} - \frac{s}{(st+2)^2 + 4^2}$$

$$= e^{-2t} \cos 4t - \frac{1}{4} e^{-2t} \sin 4t$$



